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L HC Beam L oss Monitor
Threshold Compar ator

Design Consider ations:

L ogging
Post Mortem
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L ogging: General

Each BLMTC card handles 16 detector s (Ionisation Chambers).

From each of these cardstwo basic sets of information
haveto betransmitted for thelogging purposes.

= TheThreshold & Warning table. (~ 10 kBytes)

= Themeasured/calculated data. (< 2 KBytes)
Theused Th & W values. (< 2kBytes)
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@ Logging: The Threshold & Warning table

Thistable holdsthe threshold and war ning data needed for the
comparison with the measured values.

They are detector specific (i.e. each card will hold different data)

= ~10KBytes
= their valuesare not foreseen to change often, thus
= jtisnotread on regular intervals, only when flagged.
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L ogging: Calculated data & used Th & W values

These data haveto beread with arate of a second
In order to bestored in a database aswell as
give a graphical representation for the control room.

Theinformation needed to be stored and displayed includethe:
> CID (card ID)
> Status bits
> CRC earors
> Calculated data (integrals)
> Threshold values choices of each integral
> Maximum values of the last second.
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L ogging: Calculated data & used Th & W values (cont.)

a b~ W N P

Words 244.

245

484

494

CID (card ID)
STATUS

CRC errors
(~16 Bytes)

M easur ed data
(~960 Bytes)

Threshold data
(~960 Bytes)

Maximum values
(~ 40 Bytes)

16
Bits

32

1976 Bytes/card updated
every second

Read enableflag for CPU

18 card</crate
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Post Mortem

Two circular buffers
A. 2000 turnsof both signalsreceived
B. Integralsof 10 ms

Double the above system and toggle between them
using the stop PM recording trigger

> Never stop recording (i.e. avoid start input)
> Test of PM will be possible anytime
> Accidental/error-triggering proof

Calculations:
2000 turns* ~200 bitsframe
=>~50KB/signal * 2 signals/card = 100 KB /card
=> 100K B/card * 18 cards/crate=1.75 M B /crate

Christos Zamantzas



